A (Printed Pages 8)
(20622) Roll No,
BBA-IV Sem.

lllllllllllllllllllll

18093
B.B.A. Examination, June-2022

Financial Management
(BBA-402)

(New)
Time : Three Hours | [Maximum Marks : 75
Note : Attempt all the Sections as per
instructions.
At weht woel o FiderwR & i
Section-A/@Us-3]
(Very Short Answer Questions)
(sifer o7y I o)
Note : Attempt all five questions.
AT : W dfe geEl & SR SRR
1. Define the term Financial Management.

ferita wemer @1 okt s 3

2. Define the objectives of Financial
Management. 3
P.T.O.
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Attempt any two questions. Each
Question carries 7.5 marks,
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“Wealth Maximization is better option
than Profit Maximization” Do you agree
with the Statement ? 7.5
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7 What are thé various sources of long

term Finance? EXCian any three of them

in detail. 72

Sy B AR 2 am B FH A
Rz & a3t

8. What do you mear 5y Werking Capitai’

Define the factors affecting the amount

2
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of working capital
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Section-C/WE-§
(Detailed Answer Questions)
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Note : Attempt any threaout of the following
S quesuons. Eich quest:on carries 15
marks. Answer 1S required in detail.
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10.

11,

12.

Explain
the Meaning of the term Dividend

Policy,
Crltically examine the assentlals

of a
‘ Soung Dividend polley. 15
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Budgeting? Explain in brief the varlous
technique of Capital Budgeting. 15
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What is Equity Shares? What are its
advantages and disadvantages, Glve
the distinctlons between Shares and

Debentures, 15
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A Limited Company |s considering
to purchase the new Machinery. The

Machine A & B are avallable, From thoe
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following information relating to two

Machines ascertain which of the WO

Machine will be more suitable. as per (1)

PBP (II) PPBP (lil) ROI (Iv) ARR. 15
Machine A | Machine B,
Cost of machine | 1,00,000 1,20,000_!
Life In ';ears 5 years 6 years :
EBIT 1 30,000 40,000 |
2 50,000 750,000
3 20,000 | 40,000
T4 | 80000 [ 60,000
5 | 55000 | 70,000
:ﬂ_g—_u_f_ ..... o { 60,000
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T | e
S S orm T 000 | 120,000
__——__——-_-——‘_______ 1[]0,
S (agf ) c 78 6 7
‘—‘__—‘__-—_‘___—___"'——_
€BIT 1 30,000 40,000
— > | =
___2_________ 50,000 50,000
3 [ 70000 | 40,000
4 80,000 60,000
3 | 55,000 70,000
L6 60,000
13. A
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proforma cost sheet of a company

Provides the following particulars. 15

Elements of Cost
Raw Materials

Direct Labours
Overhead

Total Cost

—

Profit

a—

————

——

——

Selling Price

Further particulars availabja are .

1. Raw materials

Amt. Per Unit (Rs.)

!

140
60
70
270
30
300

are in stock on an

average for one month.

2. Materials are

In" process on an

average for half a month,
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3 Finished 9993 are in stock on an
average for ONe month

4. Credit allowed by ypsiace ic one
month.

5. Credit allowed to cystomers i< WO
months.

6. lLag in PAYMENt of wages is 15
weeks. https://www.ccsustudy.com

7. Lag in payment of
expenses is ONemonth_

overhead

8. One fourth of the output is soig

against cash. ™
9. Cashinhandand at bankis expecteqd
to be Rs. 50,000.
You are required to prepare a statement
showing the working capital needed o
finance, level of activity of 2,40,000
units of production. You may assume
that production is carried on evenly

throughout the year; wages and overhead
accrue similarly,
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